AP Macroeconomics            Mr. Sadow          Chapter 3 Extra Credit #5 of 5
Put the answer on the line.



                                    Name: ____________________________
***This is due on or before the day of the test review


Period: ____

Is the Economy in Recession/in Contraction, in Expansion/with Inflation, or in Long-run Equilibrium?
                                                                         The economy is in recession/contraction,        The “X” is on, to the
                                                                                     in expansion/with inflation,                   left of, or to the right 

                                                                                               or LR equilibrium?                               of LRAS?                   

Example: If an economy… is at 3% unemployment?   ____long-run equilibrium_____

   __on_​​​__
1. is operating below (less than) full-unemployment?  ____in recession/in contraction_

   __​left___
2. is operating above (more than) the natural rate of unemployment? ​​​​​​​​ _______________ 
 
   ________
3. is operating at 9% unemployment?  
  ​​​​​​​​ ________________________________
 
  ________
4. is above (more than) its full-employment output level?  ​​​​​​​​  ______________________
 
  ________
5. is operating above (>) full-unemployment?       ​​​​​​​​ _______________________________

  ________
6. is operating below (less than) the natural rate of unemployment? ​​​​​​​​ ________________ 
 
  ________
7. is operating at full-employment?
               ________________________________
 
  ________
8. is below (<) its full-employment output level?  ​​​​​​​​  _____________________________
 
  ________
9. is operating at 6% unemployment?  
   ________________________________
 
  ________
10. is operating at 2% unemployment?  
   ________________________________
 
  ________
11. is operating at the natural rate of unemployment? ​​​​​​​​ ___________________________ 
 
  ________
12. is at its full-employment output level?  
  ​​​​​​​​ ________________________________
 
  ________
13. is in long-run equilibrium?

  ​​​​​​​​ ________________________________
 
  ________
14. is operating at 5% unemployment?  
   ________________________________
 
  ________
